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101.

102.

103.

Consider the following statements about Mohenjo-Daro:

1. The doors of the houses of Mohenjo-Daro faced the inner streets instead of the

public road.
2. The houses were built on hills to protect them from floods and dampness.
Which of the above statement(s) is/are correct?
.Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about Magadha:

1. Initially, the capital of Magadha was Rajgrih whose modern name is Rajgir.

2. Later on, Pataliputra whose modern name is Patna became the capital of Magadha.
Which of the above statement(s) is/are correct?

(A)Only 1

(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about the Sudarshan Lake in Girnar:
1. This lake was built by a local Governor during the Mauryan period.
2. Emperor Ashoka got it repaired.

Which of the above statement(s) is/are correct?

@)oniy 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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104.

10S.

106.

Consider the following statements about Buddhist philosophy:

1. The existence of God was very important in the early tradition of Buddhism.
2. According to Buddhist philosophy, the world is impermanent and changing.
Which of the above statement(s) is/are correct?

(A)Only 1
.Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about the devotional tradition of India:
1. In the Saguna tradition, the abstract, formless God was worshipped.

2. In the Nirguna tradition, Shiva, Vishnu and their incarnations and goddesses were

worshipped.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2
(C) Both 1 and 2

.Neither 1 nor 2

Consider the following statements about Mirabai:

1. Mirabai was originally from Dwarka.

2. She accepted Krishna, an incarnation of Vishnu as her only husband.
Which of the above statement(s) is/are correct?

(A) Only 1

.Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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107.

108.
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107.

108.

109.

Consider the following statements about the Partition of Bengal:
1. In 1905, Bengal province was partitioned.

2. To oppose that, a Non-Cooperation movement was started.
Which of the above statement(s) is/are correct?

.Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about the Round Table Conference:

1. The first Round Table Conference met in London but failed due to the absence of

Congress.

2. Gandhiji was present at the second Round Table Conference but it failed due to the

divisive issue of separate electorate.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about the ‘Quit India Movement’:

1. The ‘Quit India’ resolution was passed on the night of 8" August, 1942 in the meeting
of the Congress held in Bombay.

2. The slogan of the ‘Quit India Movement’ was ‘Do or die’.
Which of the above statement(s) is/are correct?

(A) Only 1

(B) Only 2

{@)Both 1 and 2

(D) Neither 1 nor 2
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110. Consider the following statements about the Azad Hind Fauj:
1. It was temporarily established by Rashbihari Bose and Captain Mohan Singh.
2. Subhash Chandra Bose appointed Rashbihari Bose as the chief of the Indian National
Army.
Which of the above statement(s) is/are correct?
@)oniy 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

111. Consider the following statements about the Indian Independence Act:
1. The British Parliament passed this Act in 1947 as per the plan of Viceroy Mountbatten.
2. According to this Act, Pakistan chose Mountbatten as its first Governor General.

3. Gandhiji called this Act ‘The only best and most beneficial law given to India by the

British Government’.
Which of the above statement(s) is/are correct?
(A) Only 1
@) only 1 and 3
(C)Only 2 and 3

(D) 1,2 and 3

112. Consider the following statements about ‘Operation Vijay’:

1. It was a military operation launched by the Government of India to liberate Goa from

the control of the Portuguese Government.
2. It was led by General Manekshaw.
Which of the above statement(s) is/are correct?
.Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2
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113. According to religious beliefs, which of the following birds / animals are considered as

vehicles of Gods and Goddesses?
1. Tiger

2. Lion

3. Peacock

4. Cuckoo

5. Crocodile

Select the correct option from the following.
(A) Only 1 and 2

(B)Only 1,3 and 5
@onliy1,2,3 and 5
MD)1,2,3,4and 5

114. Consider the following statements about Indian art:
1. Idar toys are famous in wood carving.
2. Bikaner in Rajasthan is known for its inlay work in jewellery.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

115. Consider the following statements about Indian music:

1. During the time of Alauddin Khilji, Amir Khusro became famous as ‘Tuti-e-Hind’ due

to his contribution to Shayari and music.
2. Baiju Bawra became a disciple of Swami Ramdas.
3. During the time of Baiju Bawra, there were two sisters, Tana and Riri in Gujarat.
Which of the above statements are correct?
(A) Only 1 and 2
(B) Only 2 and 3

.Only 1and3

(D) 1,2 and 3
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116. Select the correct option that matches the following dances and pairs of dancers:

Dancer Dance
1. Mrinalini Sarabhai a. Kuchipudi
2. Shobha Naidu b. Kathak
3. Shivaraman c. Bharatanatyam
4. Sitara Devi d. Kathakali

Select the correct option from the following.

1 2 3 4

A d b c a
:. c a d b
O] b d a c
M| d a b c

117. Consider the following statements about Randalmata:
1. Randal is the goddess of motherhood.
2. She is the wife of the sun, and her vehicle is horse.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

118. Consider the following statements about the Bhadbhut fair:
1. This fair is held every 18 years in the month of Adhika Shravan.
2. Bhadbhut is located in Bharuch district of Gujarat.
Which of the above statement(s) is/are correct?
(A)Only 1
.Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
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119.

120.

121.

122.
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119. Consider the following dialogues about seeing Indian architecture:
1. Virat Kohli: The first T20 is in Agra, so I will go to see the Red Fort.
2. Rohit Sharma: We will also go to see the Taj Mahal.
3. Yashasvi Jaiswal: I want to see Buland Darwaza there, will you take me with you?
4. Prasad: To see Buland Darwaza, you have to go to Hyderabad.
Which of the above dialogues are correct?
(A)Only 1 and 3
(B) Only 1 and 4
(C)Only 1,3 and 4

@) only 1 and 2

120. Consider the following statements about the Constitution:

1. Laws are made in the country based on constitutional provisions.

2. The laws of the country must be consistent with the constitution and subject to
constitutional provisions.

3. Laws are supreme over the constitution.

Which of the above statements are correct?

@)onty 1 and 2 (B) Only 2 and 3
(C)Only 1 and 3 (D)1,2and 3

121. Which of the following has/have been declared in the preamble of the Indian Constitution?
1. Satyamev Jayate
2. Liberty, Equality and Fraternity
Select the correct option from the following:
(A) Only 1
.Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2

122. Consider the following statements about the 42" Constitutional Amendment:
1. The words “socialist” and “secular” were added in the Preamble.
2. The words “unity and integrity of the nation” were also included.
Which of the above statement(s) is/are correct?
(A)Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2
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123.

124.

125.
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123. Which of the following subjects are in the Combined List of the Union (Centre) and the
States?

1. Law and Order

2. Civil and Criminal Matters

3. Finance

4. Economic Planning

Select the correct option from the following.
(A) Only 1 and 2

(B) Only 2 and 3

(C)Only 1 and 3

.Only 2 and 4

124. Consider the following provisions regarding law and order in the states:

1. If the Centre feels that law and order has broken down in the state, then with the
consent of the state, it can send Central Reserve Police Forces to the state.

2. The Center cannot send Central Reserve Police Forces to a state against the will of that
state.

Which of the above statement(s) is/are correct?
.Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

125. Consider the following statements about the distribution of financial resources:

1. Taxes that generate more revenue like excise duty, import-export duty, income tax have
been allocated to the Centre.

2. Taxes that generate less revenue like sales tax, entertainment tax, land revenue,
education tax have been allocated to the states.

Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2
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JulA 53 asta 8.

2. AYs SLUSUHL AUEL olal Iloll g ueA Aol gl Al sl Amey

Hl Ul dellell A qcflatiar 2ume agudledl 3812 U8 ad .

3. GlURQLell AYs LHL YURL sl M2 AvEal olal 9sloll gt ueaA Avuell
ogHll A sl%R Aol U BUAL ueAlo(l A qclatiar sgHdl GURNd ustl s2cll

ay u2s AxAe{l [Quistyell d)8lell 2l 33l 8.
GuR Ul sal [Quiall wul 82
(A) 85 1 ol 2
.S&d 2 ua 3
(C) $5cl 1 Ual 3
(D) 1, 2 UA 3
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126. The Indian federal system is suspended during which of the following emergencies?
1. National emergency
2. Constitutional emergency
3. Financial emergency
Select the correct option from the following.
(A) Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3

®)1,2 and 3

127. Consider the following statements about federalism in India:

1. The word federal is used/mentioned in the preamble of the Constitution of India.
2. India has a quasi federal system with strong centre.

Which of the above statement(s) is/are correct?

(A) Only 1

.Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

128. Consider the following statements about amendments to the Constitution:

1. All provisions can be amended only by a two-thirds majority of the members of
Parliament present and voting.

2. Certain provisions can be amended by a majority of the total number of members of
both Houses of Parliament and a clear majority of two-thirds of the members present
and voting.

3. To amend some part of the Constitution, a majority of the total number of members of
both Houses of Parliament and a two-thirds majority of the members present and voting
plus the approval of the Legislative Assemblies of more than half of the constituent
states are required.

Which of the above statements are correct?
(A) Only 1 and 2

@) only 2 and 3

(C)Only 1 and 3

(D)1,2and 3
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129. o{lAetl [Quuell U A
1. 10 Hl BA0Ra “Ulotcl 85 [Rot’ dF Gosclauui A 8,
2. ARAML 98l AYARA Yaed $R% (ot 1Y Gaclalls] otssl Ul B.
Gur Ul saj/sal (Quuet/(Quiell AU B?
(A) 85 1 (B) $5ct 2
.1 Ua 2 olal (D) claMiell As ul «3

130. el @A (Aol Quiell taulal A
1. %l tiRwel A 9alell tacll Sla Aal (o8l RS (bicameral legislature) 53 8.
2. 91Ul (808l wiRiuew 8.
GuR Udl sej/sal (Quuet/(Qutell AUl B?
(B 55t 1 (B) $5cl 2
(C) 1 Aal 2 ¢l (D) cialuiell As uwl «ife

131. [AQias U (5lREa dle) A {1 Aell [Qtutall trua A

1. 9UL McElol AUl dR3QL ¥ (A3GHT AU Ul USAUL Sl RUR d)sell et [RQlas
Hd (5oL cle) audl 243 B.

2. dufla AR uel U ARSI HAA B.
Gur Udl sg/sal [Quuev(Quuell AU B?

(&) &5 1 (B) §5cl 2
(C) 1 A 2 ola (D) olaAniell As uwl «1(8

132. elRetoll AR U[e{l At [AA ol Aati (Aol tauial AL
1. [QAlQu UL elRdoll AE ol [AHgs AUl 52 B.
2. ol AL U Yg A3 sclloll, Ya ol scllell 3 AR sl Al A UQAA B,
GuR Ul saj/sal (Quuet/Quiell AU B?
(A) $5c 1
(B) $5cl 2

.1 Ual 2 ol

(D) cialMiell As uw «ifs
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129.

130.

131.

132.

Consider the following statements:

1. December 10" is celebrated as ‘Human Rights Day’.

2. In India, January 6™ has been decided to be celebrated as ‘Fundamental Duties Day’.
Which of the above statement(s) is/are correct?

(A)Only 1 (B) Only 2

.Both 1and 2 (D) Neither 1 nor 2

Consider the following statements about the Legislative Assembly:

1. Where the Legislative Assembly consists of two houses, itis called a bicameral legislature.
2. Gujarat has a bicameral legislature.

Which of the above statement(s) is/are correct?

@)oniy 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about casting votes:

1. The Speaker of the House can cast a (casting) vote when there is an equal number of

votes in favor or against during a vote in the House.
2. The Parliamentary Secretary also has such authority.
Which of the above statement(s) is/are correct?
@)oniy 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about the powers of the President of India:
1. The President appoints India's ambassadors to various countries.

2. The President has the power to declare war, cease war or conclude treaties with other

nations.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2

{@©)Both 1 and 2

(D) Neither 1 nor 2
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133. ellRctoll AU Wdlej AWty o{lAsttuiell sl WA B?
(A) dslytletal
(B) AU UEIAdoll Yyt ALY [dA
(C) Aaell el

(B) Gurgula

134. AxAUA QA o{lAatl [Quuell tual A
1. A2AULACl Atll AASRUL Yuaytlel Aol dHg] HAlisa ellold 8.
2. A%AUA 58 AwSlaA uat WA AsnAcl 88 ad 8.
Gur Ul saj/sal (Quuet/(Qutell AU B?
(A) $5c 1 (B) §5¢ct 2
.1 Aa 2 oial (D) claluiell As ul «1(3

135. UBs Rl Bl QA (Aol Quuell tauiad Al
1. [Beal daddell agladl ast Peat datdetl uyu 8.
2. HsleldR UllAstotll agladl uivietl ast NaAR 8.
Gur U4l sg/sal (Quuev(Quuell AU B?
(A) $5c 1
(B) $5c 2
(C) 1 Aal 2 olal
(B ciatiel As ugl <k

136. AU Aelcdoll ALl ctasid QA ol At [Qulell Lt AL

1. elRcte(l 518 Ul asl WelAdHl ALl A% oMl et Wi ay Yl Aeu
oostell 8l

2. AUl Ut Yol A dlHiEd RuA@E ¥ yvld staelull sl AgA.
Gur Ul sej/sal (Quuet/(Quell AU B?

(A) §5c 1

(B) §5¢ct 2

.1 WA 2 ol

(D) olauiell As ual «1(3
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133. The President of India submits his/her resignation to whom among the following?
(A) The Prime Minister
(B) The Chief Justice of the Supreme Court
(C) The Attorney General
.The Vice President

134. Consider the following statements about the Governor:

1. The power of the Governor is exercised by the Chief Minister and his Council of
Ministers.

2. The Governor may be affiliated with a political party.
Which of the above statement(s) is/are correct?
(A)Only 1

(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

135. Consider the following statements about the institution of local self-government:

1. The administrative head of the District Panchayat is the President of the District
Panchayat.

2. The head of the administrative wing of the Municipal Corporation is the Mayor.
Which of the above statement(s) is/are correct?

(A)Only 1

(B) Only 2

(C) Both 1 and 2

.Neither 1 nor 2

136. Consider the following statements about the qualifications of a Supreme Court judge:
1. Must have served as a Judge in any High Court of India for at least five years.
2. Must be a jurist of repute or an eminent jurist in the opinion of the President.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2

{@)Both 1 and 2

(D) Neither 1 nor 2
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137. cllelt As H(@elloll UlAHL R olcll abuBGe 3Rt 23 52 B, ¥ AHAR WA 8. Al
A o HEellell 211 Rad ugletl 2wt Rad (QH Adle] %=t 53 . Aull sa
Zad @ aae

(A) ducl? (B) USUR
.al[acue (D) AHAR

138. o{lAoll SUAs UHsWAHL, % x* A =7 WA Aol ‘3’ ol 6" WA WeCUAEAl scUHL
uld, dl 53 AlswL WY 63?
(A) 36 x 12 + 63 = 48
.72+ 11 x 66 = 24
(C) 54 + 39 x 27 = 18
(D) 63 x 42 + 84 = 21

139. As ARSAUAR AR 7:00 A Qe (lsA B wal 11:00 WA olfSae USA
8. As Hl2RAUASAUUR AR 7:30 < olfSatedl «lsA ] 3 11:00 <A }BLE
YSIA 8. A RclML sAL AHA HOQ?

(A) AR 9:02 cdd
(B) Ul 9:04 <o
(C) ™R 9:06 cllod
.e{cu% 9:08 cllod

140. WM Ul Aol ollHoll A SIHERL A5 oliusiH WBse BajsN 18 [Rad wa 12
R aaul yd 530 2 8. vl A iU sclef 23 53, Ud 5 Bay udl, Asa g
Usy. M Ul 50U ollHoll olcll SIHER WA sIH AULE AV, Wl AVNA oltSle] sIH
4 Rauul yul 53, ol 50 Ascl si1 52 8, dl A decl Eaul A & WBs2all 50%
etol Yol s3l as 82

(A) 22 [Ean () 21 [
(©)24 Rax (D) 20 oy

141. QUL A ol (Bxd QualU B ofl B $2cll 60% AU B Aal AUAU B ol (1
AualU C ol BHc scll 30% 39l B, %l AQUAU A A AU C ofl (FHA ARl
dslelcl 300 82, Al Qualu B ol (Hd 32cll 82

(A) % 1400 (B) % 1500
(C) T 1600 .z 1750
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137.

138.

139.

140.

141.

Lila starts a new workout routine on the 5™ day of a month which falls on a Monday. She
plans to take a break on the third day after the 21* day of the same month. On which day
will she take a break?

(A) Wednesday (B) Friday
.Saturday (D) Monday

In the following mathematical expressions, if ‘X’ is interchanged with ‘-’ and ‘3’ is
interchanged with °6’, which equation would be correct?

(A) 36 x 12+ 63 =48
@)72 - 11 < 66 =24
(C)54+39x27=18
(D) 63 x 42+ 84 =21

A cyclist leaves Anand at 7:00 AM and reaches Nadiad at 11:00 AM. A motorcyclist
leaves Nadiad at 7:30 AM and reaches Anand at 11:00 AM. At what time do they meet on
the way?

(A) 9:02 AM

(B) 9:04 AM

(C) 9:06 AM

(@)9:08 AM

Two workers, Amit and Rohan can complete a construction project in 18 days and 12
days respectively. They started working together but after 5 days, Rohan had to leave.
Amit then continued working with a new worker, Karan and they finished the remaining
work in 4 days. If Karan works alone, in how many days can he complete 50% of the same
project?

(A) 22 days

(B) 21 days

.24 days

(D) 20 days

The price of Laptop A is 60% more than the price of Laptop B and the price of Laptop B
is 30% less than the price of Laptop C. If the difference between the prices of Laptop A
and Laptop C is X 300, then what is the price of Laptop B?

(A) T 1400 (B) % 1500
(C) T 1600 (@)= 1750
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142.

143.

144.

145.

146.

As AL As Blsdlal 2uusla, As HRA 56, 'ARllell eueell Hidl A MRl Aol
Asua €ls? B a BAls? A W W 3l A qel@d B2 Cancelled

(A) K&el (B) €ls3l
€) @l (D) Ad=s eus

A5 512 ALl WSt Aleul Grl-ulBH dRs Yu s3la Glell B. ugdl A 90° ¥ugll
AR (ulSamell (Raunl) 52 B, uRolte 180° stoll drs (ulSaunell Qg (Raunl) 2
8 el wd A ¥ Rl (ulanel Q¢ (BauMil) 45° ad 8. s12 &d s (Bl Yw
sdla @ell 82 Cancelled

(A) GriR-u@n (B) eldal-uln
(C) Grlr-yd (D) elda-yd

Yd o WAl wHelale HRo{l ol €2 WSl sAUS GUS . WAL UR MU
sclll lcR] 3 HElale HRell vy 30 M2 uddl «lsull ae B, ua wourl vy
19:00 cllod GUSA. cl AL &t KR sl Wil sdl?

(A) 17:30 clloa
(B) 17:10 <t
(C) 17:20 <12

.17:00 SIbol

Ase As Aol WMl ocll, »Ul AQ elot 12 A2 wilecls] otssl 53 AQ 2w
wIlEl 531, €35 cutd Aol WA oltdl 23ctt daumiell AUsutell sl aa? wl sall.
el WlEl ugl, Aol WA g5t 1 3R ousl @, ASA slFuRL WILEL sl Ul
yaul 32cl dal sdt?  Cancelled

(A) 36 3L (B) 42 30

(C) 48 32 (D) 52 3@

As (A3 Aat (Redlell way S Ui AN AU 32 A B, syl elud
2 AHo(l WA AR U AUADL 32 B Aal cluleddl A-E M2 dAxe(l WA 2A”L AU AL
AU 32 B. [edlall Az Yell Fecll AUctdl AUcdl BAddl 32 Guaeu B2

(A) 20 .60

(C) 12 (D) 30
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142. Pointing to a girl in a photograph, a man said, 'The mother of her brother is the only
daughter of my father'. How is the girl related to the man? Cancelled

(A) Sister
(B) Daughter
(C) Niece

(D) Cousin

143. A car is initially facing North-West at a parking lot. It then moves 90° to the right
(clockwise), followed by 180° to the left (anticlockwise) and finally takes another 45° turn
in the same (anticlockwise) direction. Which direction is the car facing now? Cancelled

(A) North-West
(B) South-West .
(C) North-East
(D) South-East

144. The bus for Ahmedabad departs every two and a half hours from Surat bus station.
An announcement was made at the station that the bus for Ahmedabad had left 30 minutes
ago, and the next bus will depart at 19:00 hrs. At what time was the announcement made?

(A) 17:30 hrs
(B) 17:10 hrs
(C) 17:20 hrs

({@))17:00 hrs

145. Rahul was at a shopping mall where he decided to buy gifts for charity. He made three
purchases, each time spending slightly more than half of the money he had left. After the
last purchase, he was left with just 1 rupee. How much money did Rahul originally have
before making any purchases? Cancelled

(A) 36 rupees
(B) 42 rupees
(C) 48 rupees
(D) 52 rupees

146. A delivery service operates five different routes from Delhi to Jaipur. From Jaipur to
Bhopal, they have four different routes, and from Bhopal to Chennai, they have three
different routes. How many different delivery routes are available from Delhi to Chennai?

(A) 20 @)oo

©) 12 (D) 30
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147. % " MISCELLANEOUS " 26€oil 3 &Rlal HouaRlell sHML dsdallHl 3ad, dl otal
sHML 1Rl otorell Aa vaR wal stoll olyell olost wetRe{l RAQAHL 9 dslad A2

(A) 6 .7

(C) 8 (D) 9

148. As AU QaulRA 12 AHR Frue] w0%et 53, geloalael, 31U eaet 15 (B au
Yell €% clRAULE USAL % ¥, AR UQL AU dRAUE Usdl, R (QeanelRAA o l?
wsRe{l Ug@Ball lole MIRA U Getg sct Holla, [QeneRA 13 2UR AR Ao

14 AU ol Hofl. AR U et Jecll Rax wel? Cancelled
(A) 26 (B) 22

(C) 21 (D) 20

149. RBI oll s QA o{lAxti [Quuell LU AL
1. RBI WA 2ol AidRA2L ARl Eall elslne{l s2sl 8.
2. RBI 306 ARS(Rell MM ollRUSlA cAcSR 53 & Ud AU URSRAell otgl,
3. RBI W ollBliell Yaisla (AR 52 B.
GuR Ul sal [Quuell waul B?
(A) §5cl 1 Ul 2
.S&d 13a 3
(C) 5l 2 o 3
(D) 1, 2 ¥al 3

150. MlRdMl GST [AA «{1Aotl Qtuell taulal Al
1. GST A Geuleol AUR 52 B.
2. GST ¥ GST SIGLAA gl AAAA Al B, Boll AL AR cloll dllRUULL Sl B,
Gur Ugl s/sal (Quuet/(Qutell UL/l B?
(A) §5c 1
.S&d 2
(C) 1 Aal 2 ol
(D) cialuiell As ul -
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147. If the letters in the word "MISCELLANEOUS" are arranged in alphabetical order,
what will be the difference in the positions of the letter that is fourth from the right and

the letter that is third from the left in the new arrangement?

(A) 6 (®B)7

©)8 D)9

148. A school organized a summer camp for students. Unfortunately, it rained daily for
15 days during the camp. However, whenever it rained in the mornings, the students
enjoyed outdoor activities in the afternoon and vice versa. In total, the students had

13 clear mornings and 14 clear afternoons. How many days in total did the summer

camp last>  Concelled
) 26 (B) 22

(C) 21 (D) 20

149. Consider the following statements regarding the functions of the RBI:
(1) The RBI has the custody of the country’s reserves of international currency.

(2) The RBI carries all financial transactions of the Central Government but not of State

Governments.
(3) The RBI controls the supply of credit money.
Which of the statements given above are correct?
(A)1and 2
.1 and 3
(C)2and3
(D)1,2and 3

150. Consider the following statements about GST in India:
(1) GST is a production-based tax
(2) GST is governed by a GST council whose Chair Person is the Finance Minister of India
Which of the statements given above is/are correct?
(A) 1 only
.2 only
(C)1 and 2
(D) Neither 1 nor 2
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151. o{lAottniell 53 Quet vig B2

(A) Holell Aan weA URUA RAR RAvllal crdell (BHA wal Aeotl HAEL 2l
AL Aoitle{l AU 53 B.

(B) Yrasloll [AaAM et URuA RAR AV crcfell (BHd wal dotl YR ULscUMl
ULAA g2l dRAell Aoitloll AU 52 B.

(C) Blget crd oll (xct wal Hidl A Yl Aol B
.onéscﬁ AUlals A e8| cladell Hidl A AL Aol B,

152. WE(As auHlal Aesl (RRBs) (A o{lAetl [Quutell rua A
1. RRBe{l MW NABARD sl sclldl wld B.
2. RRBs 3 RBI sl [AulRd [AaMetsidl 0] ulcet s ud 8.
GuR Ul saj/sal (Quuet/(Qutell AL/l B?
(A) $5d 1 (B) $5c 2
.1 AU 2 ol (D) oiaHiell As gl o3

153. NABARD (A2l o{lAetl [Qtueall taua A
1. NABARDe{l 201l 3152 AR (Aol etcumeiell st 2l odl.

2. NABARD AUH1Ql (Al [QQu [@stuctell ugRala Wleitset sual 1 [l
Yelol sc(l WA 12 AU (QR1eL Aol 13 Act 1 B.

Gur Ul saj/sal (Quuet/(Qutell AU B?
(A) $5c 1

.8&(‘[ 2

(C) 1 Aal 2 ool

(D) olaAniell As uwl <13

154. o{lAetl [Quuell U A
1. wolldllet et s6ll As & vlase(l UUULotcl daiscllall B,
2. URlel 5201l ollor YHIRML dtdlol Alsl uR ay usd B.
3. AuR AR A ycuel 52 B AR lALd w5l A UJAet 5 B.
Gur Udl sej/sal (Quuet/(Quell AL/l B?
(A) $5c 1 U 2 (B) $5cl 1 ¥lal 3
(C) $5cl 2 Aal 3 .1,224813
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151.

152.

153.

154.

Which one of the following statements is incorrect?

(A) Law of demand examines the relationship between price of a commodity and its
quantity demanded, keeping other factors constant

(B) Law of supply examines the relationship between price of a commodity and its quantity
supplied, keeping other factors constant

(C) There is a direct relationship between price and demand for Giffen goods

.There is a direct relationship between income of consumers and demand for inferior
goods

Consider the following statements about Regional Rural Banks (RRBs):
1. The RRBs are supervised by the NABARD

2. The RRBs have to follow the regulatory norms prescribed by the RBI
Which of the statements given above is/are correct?

(A) 1 only

(D) Neither 1 nor 2

Consider the following statements regarding NABARD:
1. NABARD was established on the recommendation of the Kelkar committee

2. NABARD serves as an apex financing agency for the institutions providing credit for
promoting various developmental activities in rural areas

Which of the statements given above is/are correct?

(A) 1 only ({@)2 only
(C)1and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Progressive direct taxes aim at reducing inequality of income

2. Burden of indirect taxes falls proportionately more on the poor people
3. Wealth tax is a direct tax whereas import duty is an indirect tax
Which of the statements given above are correct?

(A)1 and 2

(B)1and 3

(C)2and3

®)1,2 and 3
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155. S\0AR el As2-2002 QA {lAetl (Qtitall tulal AL

1. Al stAELel GEal Ul QAL yaudla Ascll el ASRA A el Wlset
yUcllell 8.

2. L slA€l Asieladl YlAollld sl otell udq dej Aamet 52 B.
Gur Ul sej/sal (Quuet/(Qutell AUl B?

(A) $5d 1 (B) $5cl 2

.1 Aal 2 olal (D) claluiell As ul «1(3

156. o{lAetl [Qtllell 2 AL
1. el Ysarll uRell é2 vwda [@siucel wal sl 2 B.

2. 0 [Qrclrdl R Aead oittal Hzell W3 (ot [Astuctall Wl d3l¥ awetal
uld B.

GuR Ugl sej/sal (Quuet/(Qutell UL/l B?
(A) 85 1 (B) $5cl 2
(C) 1 A 2 ol .o'{aulaﬂ As Ul o3

157. o{lAell [Quellad tad A:  Cancelled
1. Y &dlstsul wileell W urieoll &ldl «1el.
2. 8oRIER UBl WA [Bud uR Ay Qi 8ld «tell.
3. 8oRAYS 83Ul clrdd(Atl Hlal HA B.
Gur Udl sal (Quiell Al B2
(A) $5c 1 W 2 (B) $5cl 1 ¥lal 3
(C) $5cl 2 Ual 3 (D) 1, 2 ¥al 3

158. wdcAcReUloll HIOWIML $R81201L Aeolul o{lAstiuiell 53 A {lA SlgosElAcUSRalot
(deindustrialization)al cAlVARA 52 B2

(@) st AxouRet (G tdld Bueststt AXoURML waldl

(B) AUdcdaHl Hetwalell AsAle(l Auvaui aeLsl

(C) U AUl Ay Aol HraAH Gelollof{l Avaui aelsl

(D) AeBls Axell vieR @y wal HraAH GeloNHL st s AR AA ©aLsl
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155.

156.

157.

158.

Consider the following statements regarding Competition Act, 2002:

1. This Act aims to prevent anti-competitive practices and promote competition among
firms

2. This Act does not prohibit combinations but regulates it
Which of the statements given above is/are correct?

(A) 1 only

(B) 2 only

.1 and 2

(D) Neither 1 nor 2

Consider the following statements:
1. Public expenditure on interest payments is considered to be developmental expenditure

2. Public expenditure on constructing irrigation network in desert area is considered as
non-developmental expenditure

Which of the statements given above is/are correct?
(A) 1 only

(B) 2 only

(C)1and 2

.Neither 1 nor 2

Consider the following statements: Cancelled

1. Buyers do not have a choice in perfect competition

2. A monopoly firm does not have full control over price
3. Products are differentiated in monopolistic competition
Which of the statements given above is/are correct?

(A) 1 and 2 (B)1and 3
(C)2and3 MD)1,2and3

Which one of the following best defines ‘deindustrialization’ with respect to the change in
the structure of the economy?

.Decrease in employment in manufacturing as a share of total employment
(B) Decrease in the number of large scale enterprises in an economy
(C) Decrease in the number of small and medium enterprises in an economy

(D) Decrease in the proportion of workforce employed in small and medium enterprises
within the industrial sector
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159. o{lAetl (Qtuell U A
1. Alet UA eURctoll AUR Wi YRloclHl B.
2. a2 HAletl A Wef Rcdoll Yuad [Astaell AlsargA B.
GuR Udl sej/sal (Quuet/(Qutell AL/l B?
(A) 85 1
(B) §5c 2
(C) 1 Ual 2 oial
.olamaﬂ As ULl o3

. 160. GURcHL H =l sttlciatatl Aeeltl o{lAsuMiell s3] [Quiet WIE B?
(A) U tolloll 3232 3o URSIRYUL AU UBSRA Al .
.cﬂfa RADL A Uolloll 3% 2 (Al Qe Hecalo(l st ey B,
(C) UMl 3% A cllrcloll (AlAw AN A AU Helloll (AWl el 2 B,

(D) A%Uel{l el WA Aot (AR, Ao URHAl WA AHRAZ2A [Qetoset oissl scuml
eyl ¢AsL elsa B

161. 9%Acl A%Uell &Ulet (AA o(lAetl (Aol teua AL
1. 9% A¥A ellRcdell UEH eudtHl Bot HalIRA (5a1? w1dd B.
2. dell 12l euat yHAlldAL sRolunl wuacl 8.
Gur Ul sej/sal (Quuet/(Qutell UL/l B?
(A) $5c 1
(B) 85 2
(C) 1 Ual 2 oial
.olameﬂ NERVE )

162. 29JR’ ¥Hleot (A o{1Aetl [Qutadl 2ol Al
1. Aeeell [Quzatl 29)2° ¥l ol B.
2. % sUlAoll ULs HI2 GuH 8.
Gur Udl se/sal (Quuev(Quuell AU B?
(A) $5c 1 (B) $5c 2
.1 Ual 2 olal (D) olauiell As uwl «1(3
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159. Consider the following statements:
1. India’s trade account with China is in surplus
2. Heavy machinery and gold are major export commodities of India
Which of the statements given above is/are correct?
(A) 1 only
(B) 2 only
(C)1and 2
.Neither 1 nor 2

160. Which one of the following statements is incorrect with respect to federal finance in India?

(A) Devolution of resources takes place from the Central Government to the State
Governments

.N ITI Aayog plays an important role in deciding the devolution of resources

(C) Horizontal devolution refers to the distribution of resources among various states of
India

(D) Population and forest area of a state are the factors among others in deciding
horizontal devolution

161. Consider the following statements about the location of Gujarat state:
1. Gujarat state is located on the coast of Indian Ocean in the western part of India.
2. A major part of it lies in the temperate zone.
Which of the above statement/s is/are correct?
(A) Only 1
(B) Only 2
(C) Both 1 and 2
.Neither 1 nor 2

162. Consider the following statements about ‘Regur’ soil:
1. ‘Regur’ soil is formed by the decomposition of basalt.
2. This is excellent for cotton cultivation.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2

{@©)Both 1 and 2

(D) Neither 1 nor 2
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163.

164.

165.

166.

AR (A o{lAetl Quutell teua A

1. dell Att HEL, AEl Ual clats Bl A€lRAAN AAU s siuell us B.
2. 3l Aelol AU UsRe(l AR A lole] slad B.

3. Al BHlel Aol s M2 Geld dRUA B.

Gur Udl sal [Quiell aul B2

.8&(‘[ 1 a2

(B) $5cl 2 W 3

(C) $5cl 1 Ual 3

(D) 1, 2 ¥a 3

eRasid AR e d (Arclk (A o(lAetl [QAutell o AL

1. AR WUROUE . [QrcllR 9fsRAd GURNct UBH cldoumell YecaHl Al 8.
2. oJRUclHl Aol gelloll Al ay (ArcllR addUSs (el wAA .

Gur U4l s¥/sal [Quuev(Quuedl AU B?

.3&d 1

(B) 85 2

(C) 1 ¥al 2 via

(D) olaniell As uwl «1(8

aloll ot€l QA o{lAetl (Quuell tulad Al

1. A soAluiedl olsd B iR ewo(lRel i WA B.

2. tayAHL (Rl vAseAel HA B ugl dal U v B.
Gur U4l s3/sal (Quuev(Quuell AU B?

(A) $5c 1 (B) §5¢ct 2

(©)1 »a 2 a (D) ciauigl As ugl o

UA-[AAl QA o{lActl [Quutell i A

1. UA-EAl As ¥R bd dA B.

2. Aoltel YELYEL AMONML £5L0L, YR <R ud 8.

Gur Ul sej/sal (Quuet/(Qutell AUl B?

(A) $5d 1 (B) $5ct 2

.1 Aa 2 olal (D) claluiell As ul «1(3
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163. Consider the following statements about Charotar:
1. It is formed by the sediment deposited by rivers like Mahi, Shedhi and Vatrak.
2. This plain is made up of loess type of baser soil.
3. This soil is considered excellent for sugarcane cultivation.
Which of the above statements are correct?
.Only 1 and 2
(B) Only 2 and 3
(C)Only 1 and 3
(D)1,2and 3

164. Consider the following statements about the area covered by Cher on the coast:

1. The area covered by Cher are there in Gujarat and Sundarbans of West Bengal.
2. The largest area of Cher trees in Gujarat is in Valsad district.

Which of the above statement(s) is/are correct?

.Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

165. Consider the following statements about the Ganges River:
1. When it originates from Gangotri, it is known as Bhagirathi.
2. At Devprayag, Bhagirathi meets Alaknanda and is then known as Ganga.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

166. Consider the following statements about El Nifio:
1. El Niiio is a complex seasonal system.
2 . It causes droughts, floods etc. in different parts of the world.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2
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167. ‘stet davll’ @A «lAeti [Quiell tua A
1. A AU A BN sounul wadl euls uitll .
2. A dauut H@ettoll AR clcl e2is?, [Qettastdl dRUEYSH udall .
3. wAUHL wL it ‘wRelcl lsU 58 8.
Gu: Ul sal [Quiell waul B2
(A) $5cl 1 Wl 2
(B) $5cl 2 ¥la 3
(C) $5cL 1 Ual 3

. .1,224&3

168. %Al USIR o Yud dellatl o{lA Ul Wssial Wl 0o [Aseu ue s

%I Cell USIR gell
1. Gl sReitfla caruLEl ¥l a. L, A, Run
2. Gwl s(oitlla wRIG %l b. Je3l, AR
3. G seitlla sielou oLl c. Nedllell, Ao, ABYS
4. dRcllatl %Al d. ot vllossl
1 2 3 4
(A) d b c a
:. c a d b
©) b d a c
(D) d a b c

169. 9%AdUl Boeraeld Y[laal $1R sodalel g AU (IUCN) S 32l o5 Yrol
(lAotiuiell 58 cotrulda e dsmell sauml ysauni wuicll 32

1. AFE VKR 2. 9oL
3. vl 4. 83
ol Aot uiell 2002 [Aseu ue s

(A) 1,2, 33 4

(B) 5l 1, 2 ¥lal 3

(C) $5cl 2 U 4

.SSd 1
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167.

168.

169.

Please note the following provisions regarding ‘Kaal Vaishakhi’:

1. It is a local storm that occurs in Assam and West Bengal.

2. Those evenings of Vaishakh month are terrible, destructive rain-laden winds.
3. In Assam, this storm is called ‘Bardoli Chhida’.

Which of the above statements are correct?

(A) Only 1 and 2

(B) Only 2 and 3

(C)Only 1 and 3

(@)1, 2 and 3

Choose the appropriate option that connects the following pairs of main trees to the types

of forests:
Forest type Trees
1. Tropical rain forests a. Teak, sal, sesame
2. Tropical dry forests b. Sundari, Cher
3. Tropical thorn forests ¢. Mahogany, ebony, rosewood
4. Tidal forests d. Acacia and nettle
1 2 3 4
(A) d b c a
:. c a d b
©) b d a c
(D) d a b ¢

Which of the following plants has been classified as endangered in Gujarat according to
the International Union for Conservation of Nature (IUCN) Red Data Book?

1. White Khakhra

2. Gugal

3. Amla

4. Harade

Select the correct option from the following.
(A)1,2,3 and 4

(B)Only 1,2 and 3

(C) Only 2 and 4

.Only 1
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170. RcMl codl YaYR [AA o(lAoti [Qtutell taual A
1. %1-s19{{Re1l (A cet(QrcAHL Gscll MAUSIE el HA B.
2. ulualeoll cotlAcAul ¥otell ols3ll sl 53l Yol lal U B.
GuR Udl sej/sal (Quuet/(Qutell AL/l B?
(A) 85 1 (B) $5cl 2
(C) 1 Aal 2 6l .aamm As Ul «i3

171. o{lAetniell sAl Wl euRdHl ML Afes2AdHl Al HA B?  Cancelled
1. ARE Re
2. YSUR
3. ugtatoll aull
ol Aot uiel 2002 [Aseu ue A
(A) 1, 2 WA 3 (B) $5cL 1 WA 3
(C) $5c 1 Ual 2 (D) $5ct 1

172. o{lAstuiell (ARl eliRdatl s2i/sl A%UR>RAA ER2USAUA o112
1. uiyygal
2. dcduau
3. seles
4. dlRcelly
ol Actiuiell Ao [@Aseu uie sA.
(A) $5d 1 (B) $5c 1 a 2
(C) $5cl 2 A 3 .8&d 2

173. elRctoll arclolucdl QA «(lAxtl [Qutoll taua AL
1. 20110{l crclowald?] vefur Al ay ardlofludl upnad A (el B.
2. 2011o{l cRALIQAZL UojuR Wl Wl crellofludl uRnad A2 wURUAA

yga 8.
Gur Udl se/sal (Quuev(Quuedl AU B?
(A) §5c 1 (B) $5c 2
(@)1 % 2 ciat (D) oiauigl As uwl ol
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170. Consider the following statements about wildlife in India:
1. Flying squirrels are found in the dense forest areas of Jammu and Kashmir.
2. Wild goats and musk deer are found in the forest areas of the Western Ghats.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
(C)Both 1 and 2 .Neither 1 nor 2

171. Which of the following animals are found only in Gujarat in India? Cgncelled
1. Asiatic lion
2. Horseshoe crab
3. Striped lizard
Choose the correct option from the following.
(A)1,2and 3 (B)Only 1 and 3
(C) Only 1 and 2 (D) Only 1

172. Which of the following South Indian state/states does not have a coastline?
1. Andhra Pradesh
2. Telangana
3. Karnataka
4. Tamil Nadu
Select the correct option from the following.
(A) 1 only
(B) 1 and 2 only
(C) 2 and 3 only

.2 only

173. Consider the following statements about the population density of India:
1. According to the 2011 census, the state with the highest population density is Delhi.

2. According to the 2011 census, the state with the lowest population density is Arunachal
Pradesh.

Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2

{@©)Both 1 and 2

(D) Neither 1 nor 2
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174. lRdMl ws el crellell estadl @A (Aot @Quuall tuial A

1. 2011e{l crclolRddl wqur Bog Wil wadl Aslell Well ay esiadl Bruaua
yeaui 8.

2. 2011e{l crcflolgldl Uk YeAH wd wadl Asle(l Al ay estadl
Astglunl .

3. 2011e(l ar{loRlddl Agur Ml wd wadl Aslell Al ay estaldl
ALUASHL B.

GuR Ul saj/sal [Quuet/(Quuell AU B?
(A) $5cl 1

(B) $5cl 2

(C) $5cl 1 Aol 3

.1,224513

175. 3U(Est vis QA oAl Qutell 1 A
1. AUZst vis AR ugl ol sA M2l vis B,

2. Al(gsl visHl glAate Al WG QL UsRL AAd ] Aua glAate(l Wl cioll «1€l
ad 9.

Gur Ul sej/sal (Quuet/(Quiell AU B?

(A) §5c 1 (B) $5¢t 2

.1 AUA 2 ool (D) oiaHiell As el «1(3
176. o{lAetHil s2/s2ul 282/2183 A€l 2wAGRUAL o122

1. AU 2. Uzl

3. dluc 4. slAsldl

ol Aol Ao [@Qseu ude s3U

.8&(‘[ 3

(B) $5cl 2 ¥lal 3
(C) 5 2 Ul 4
(D) $5cl 1 Ual 4
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174. Consider the following statements about the percentage of religious community population
in India:

1. According to the 2011 census, the highest percentage of people following Hinduism is in
Himachal Pradesh .

2. According to the 2011 census, the highest percentage of people following Islam is in
Lakshadweep.

3. According to the 2011 census, the highest percentage of people following Christianity is
in Nagaland.

Which of the above statement/s is/are correct?
(A)Only 1

(B) Only 2

(C)Only 1 and 3

@)1, 2 and 3

175. Consider the following statements about the continent of Africa:

1. The continent of Africa is the second largest continent after Asia.

2. The world's largest desert, the Sahara, is located in the continent of Africa and the

world's longest river flows through it.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

{@©)Both 1 and 2

(D) Neither 1 nor 2

176. Which of the following city/cities is/are not situated on the banks of a river?
1. Agra 2. Patna
3. Bhopal 4. Kolkata
Select the correct option from the following.
.Only 3
(B) Only 2 and 3
(C) Only 2 and 4
(D) Only 1 and 4
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177.

178.

179.

180.

A WAl Buidaci QuAA W2 Axoll QUSA WU GdRdl sHal [@Qseu
ue s2A:

(A) stuatogul, Usle, dddllR, HiGoe dNs(Aet w2l
(B) MlGoe dUs(Aet 3lRElet, HslY, UdABIR, siAswL,
(C) wacPIR, WGe2 dUs(Aet AREe, siUAA UL, HSLE,
.HLGca als(Aet RN, siUatxul, Hsle, udcblR

yecllotl gl (A oflAeti [Quuiell tua A:

1. yeclloit oloual olRieR A ewdlml adUdl wsl sieulls ua [QAyagd 53 .
2. @Qyagrel Yol Yl AHicdR goalla Wiagd 58 B.

Gur Ul sej/sal [Quuet/(Qutell AU B?

() 55<t 1

(B) $5c 2

(C) 1 Aal 2 6lal

(D) cialuigll As ul -3

yec(loll atfQett el (Rar-2Ad @A o{lAoti [Quiell taual A:

1. 9gotoll 21l ARIW Get? NoULHl (B clotMl Aol wal At gsHL 25l 8l 8.
2. (310126l 223l AW €@l SNouE ML cietHl cdioll B ad AU sl 28l AR S B.
Gur Ul sej/sal (Quuev/(Qutell ALj/AAL B?

(A) $5c 1

(B) $5cl 2

.1 Aol 2 ol

(D) olaniell As u <@

AR AA FoAS A As (532 AU EASaAHl (WR A cd A3 AR B Al elRdHl A
N el A 23 4A?  Cancelled

(A) R 7:30 (B) A% 7:30
(C) A% 7:00 (D) ¥R 5:00
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177.

178.

179.

180.

For the following Himalayan peaks, choose the option in descending order based on their

height:

(A) Kanchenjunga, Makalu, Dhaulagiri, Mount Godwin Austin
(B) Mount Godwin Austin, Makalu, Dhaulagiri, Kanchenjunga
(C) Dhaulagiri, Mount Godwin Austin, Kanchenjunga, Makalu
.Mount Godwin Austin, Kanchenjunga, Makalu, Dhaulagiri

Consider the following statements about the circles of the Earth:

1. The horizontal imaginary line that divides the Earth's sphere into two equal parts is

called the equator.
2. The parallel circles from the equator to the poles are called the longitudes.
Which of the above statement(s) is/are correct?
@)oniy 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about day and night in relation to the motion of
the Earth:

1. On June 21%, the day is the longest and the night is the shortest in Northern Hemisphere.

2. On December 22", the day is the longest and the night is the shortest in Southern

Hemisphere.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

A cricket match between India and England starts at 2 pm in London, then at what time

will the match start in India?  Cgncelled
(A) 7:30 am (B) 7:30 pm
(C) 7:00 pm (D) 5:00 am
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181.

182.

183.

FoloRIAUAGs Usl B ol Aol [@Quuell taulal A

1. ollsglwol As Yuad AB@As Ulsal iRl AAAA wa 8, BUl yauy ol
(el oildad sla 8.

2. 825 US As cAlY3U As B, FHL clcliaRla UR dset Aol dRs (QAdRel 12 Yt
ugld 8.

3. UesR Us uATaRQe(l Wsu RAMA WA oue A Asidd B, Bul ues: (Al
A3t BcRAVAHL BRAC UAA B,

Gur Ul 53 (Quuet wy B2
(A) 85 1 (B) $5c 2
.S&d 3 (D) 1, 2 Aal 3uil 81 18l

VOILOAUREL Aol waslal AglUot 3 ol Aoll [Qulell ulal Al

1. Yuddoll Yoosl éRall yalell g2 drs el 52 8, ugdl eld yuddell el R oR
a &laL.

2. LU Ug A ARMUSNG A5 Y2 B % 1ol A Je{l A RAA 8, Bui W3l
AuaAll AeABsU B.

3. 3Re{l-gBu Raletall waMs GEal Holn s el Aol Asioll AU sclloll &cll.
Gur Ul 53 [Quuet ay B2

(A 55t 1 (B) $5cl 2

(C) $5c 3 (D) 1, 2 Aol 3uil 818 o8l

Ayl Al wlolecll YUl 2 ol Asil ([AQuuiell tual Al

1. 9les U As U, Aol Mol yae B % udH YAUAl wlollsclla
altuwa 3 yewlQd s 8.

2. dldtaRe(la stolet stlsABSHL Al dclla s1RA Ad uYdl AR (§321et, eRaue
ol 3(EAH stellazall AUl (shells) A slsMRell [Quel g €13 s B.

3. Qlst A4l ucltdl Yo Udlotell Veol gll ActdallHl UA B uA d@s drMlell
ARyl UR Aell wUR «ifEad sl 8.

Gur Ul sal Qutell AuAl B2
.8&(‘[ 1 ua 2 (B) $5cl 2 ¥ 3
(C) $5cl 1 Ual 3 (D) 1, 2 ¥al 3
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181. Consider the following statements regarding Biogeochemical Cycles:

1. The nitrogen cycle is primarily driven by abiotic processes with minimal involvement
of microorganisms.

2. The phosphorus cycle is a gaseous cycle with atmospheric transport being the dominant
mechanism for its global distribution.

3. The sulfur cycle is intimately linked to the redox state of the environment with sulfur
existing in various oxidation states.

Which of the above statements is correct?
(A) Only 1
(B) Only 2

.Only 3

(D) None of 1,2 and 3

182. Consider the following statements regarding Astronomy and Space Exploration:

1. The tails of a comet always point directly away from the Sun, regardless of the comet's

direction of motion.

2. The Kuiper Belt is a region of the solar system located between Mars and Jupiter

containing a large number of asteroids.

3. The primary objective of the Cassini-Huygens mission was to study the planet Mars

and its moons.
Which of the above statements is correct?
@)oniy 1 (B) Only 2
(C) Only 3 (D) None of 1,2 and 3

183. Consider the following statements regarding Oceanography and Climate Systems:

1. The Gulf Stream is a warm, powerful ocean current that significantly influences the
climate of Western Europe.

2. Ocean acidification caused by increased atmospheric carbon dioxide leads to the
dissolution of calcium carbonate shells and skeletons of marine organisms.

3. Deep ocean currents are primarily driven by wind patterns and have a negligible impact
on global heat distribution.

Which of the above statements are correct?
@)only 1 and 2 (B) Only 2 and 3
(C)Only 1 and 3 (D)1,2and 3
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184. gL Aol AdU[ASRS cddtoll UGl A ol Aol (Qtutell toua AL

1. VGRS AHIH USsIReL A58 A diesllAs, cAlus Y&l UEld 53 8.
2. 5L AW YIIARs Ul B Bl sl Raucl Yuad RRAl wadl sl 8.

3. Yrs el Al ual Folualls slAstaloll eyl ua aldoprd
SlQAs1a AL sclloll etdlal AR B, syl Wllgel W B Aol ASR S0l
WEALOBHL URE UR GHAl $3 8.

Gur Ugl sal [Qauell Al 872
(A) §5cL 1 Ul 2

.85«1 2 ua 3

(C) $5cL 1 ual 3

(D) 1, 2 U 3

185. 29l 9fRLuM( {3 oAt [Qulall L2ulal AL

1. Qg dgasla ddl yeuastanidl yuRd ag ad 8.
2. AlBs 290l YA HI2 HikaHe(l %32 Ul B.

Gur Udl s¥/sal (Quuev(Quuell AU B?

(A) $5c 1

(B) $5c 2

.1 Aol 2 olal

(D) olaAniell As uwl «1(8

186. GURAHl HUB Al Aol AAR dsollsl UdA i o{lAell [Qtutall Ll AL

1. alold sl Malotoll 8 scllodd dsellslal L culRelell & Hal AQl lISc
oty e IT Bl wopell AUl RAARS so (T-Hubs) &UAA sl B.

2. Aglelcd AF3Ms BUDRed dalds YrsAa YA Al AARA sall Al Ustal
R As Blpect wW@esll Yz uid 8, @ 40 AsAve(l YAul WA B ol oloilatdl
YHRUA mu wald B.

3. ¥ld S3a [3(Fed sol (SIDH) A As UsIEL UdA B ¥ culscllal AUAU Aa
Blpect GuswN wleal w2 Al suguslal usta Y2l wl 8.

GuR U8l sai Qutell Wyl 82
.SSd 1 e 2 (B) §5cl 2 ¥ 3
(C) $5cl 1 Ual 3 (D) 1, 2 WA 3
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184.

18S.

186.

Consider the following statements regarding Fungal and Immune System Mechanisms:
1. Antibodies provide immediate, broad protection against all classes of pathogens.
2. Fungi are eukaryotic organisms with cell walls composed primarily of chitin.

3. The complement system enhances the ability of antibodies and phagocytic cells to
clear microbes and damaged cells promotes inflammation and attacks the pathogen's
plasma membrane.

Which of the above statements are correct?
(A) Only 1 and 2

@) only 2 and 3

(C)Only 1 and 3

MD)1,2,and 3

Consider the following statements regarding wave properties:
1. Electromagnetic waves can propagate through a vacuum.
2. Mechanical waves require a medium for propagation.
Which of the above statement(s) is/are correct?

(A)Only 1

(B) Only 2

{@©)Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements regarding Information and Communication Technology

initiatives in India:

1. National Quantum Mission aims to advance quantum technologies and has established
Thematic Hubs (T-Hubs) at premier institutions like IISc Bengaluru and IITs.

2. National Academic Depository provides a digital platform for securely storing and
verifying academic awards, facilitating easy access and reducing the risk of forged
certificates.

3. Skill India Digital Hub (SIDH) is a government initiative that provides direct financial
assistance to individuals for purchasing laptops and digital devices.

Which of the above statements are correct?
.Only 1 and 2

(B) Only 2 and 3

(C)Only 1 and 3

(D)1,2and 3
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187. GllRcloll AUASL2 AAHL Al dell [Asid QA (lAstl [@Qutadl taua Al

1. IN-SPACe, 2020 Mi WA, elRcHl Aasial ugRalul vitetd(l &xe{l ewollella

WlRlgel AUl A A@sd sal W Rboie-[Aedl Awar{l i} s 52 B.

2. dletAlel Ralet, %@ 2025 HIZ YARA YA B, Aell 3 eUcde] UUH WY W2et
UM s:clloll B, B Aloll dLoUell Histcl sl Gslol Mot HIZ Rl YN

oloilad.
. Gur Udl s¥/sal (Quuev(Quuell AU B?
.S&d 1
(B) $5c 2
(C) 1 Aal 2 olal

(D) cialuiell As uw e

188. (1A el RUR AL Al Eaescloll Aol sl HsA 202 [Aseu ue A

AR gateilset ol
1. 850U a. olell Hall AL § East RQwel §
2. Asld welYell b. Rct (B 3 oot ¢l I, w2 ddtet A2 @3,
3. wleie olell c. ARl Yes, A &2, ARl A ddet,
4. % AE AULBAR d. AR el A WL (BoElrcll SHIRU
1| 2| 3| 4
(A) d b c a
(B) c a d b
©) b d a c
I d a b c
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187. Consider the following statements about recent developments in India's space sector:

1. IN-SPACe, established in 2020, functions as a single-window agency to promote and

authorize private sector participation in space activities within India.

2. The Gaganyaan mission, scheduled for 2025, aims to establish India's first space station,

enabling long-duration human spaceflight missions.

Which of the above statement(s) is/are correct?

.Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

188. Choose the correct option that connects the following composers and patriotic songs:

Composer Patriotic Song
1. Igbal a. Nanna Munna Rahi Hun Deshka Sipahi Hun
2. Shakeel Badayuni b. Dil Diya Hai Jaan Bhi Denge, Ay Watan Tere Liye,
3. Anand Bakshi ¢. Mera Mulk, Mera Desh, Mera Ye Watan,
4. Javed Akhtar d. Saare Jahan Se Accha Hindustan Hamara
1 2 3 4
(A) d b c a
(B) c a d b
©) b d a c
I d a b c
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189. @{l‘edOj URHLR, A=A Rsid (Nuclear Doctrine) <J&lcH S YA (strategic deterrence)
Ul URHIY Aol FclOlER GURADL UR AR B.

L Aeelnl o{1Ae(l AlQ-[Aord A tual AL

1. Y GUL gl (No First Use): @Rl URMIQ 2ol GUloL 5 otel Rau %
Aoll UR UM URHIR Rl gHEAl sRelMl .

2. daflsuldeua 0L{l[Q (Flexible Response Strategy) : %l ellRda [Aseadl umy
ARl 2ullad ol BlRel Yd-AAS1RS WUBSHL UMY 2Rl GULL sRclloll A (D512
UollUd AW &,

3. [Qaun HeA (Massive Retaliation): Rl w51 ajsulet USASCL M2 Hl2l W
dcdl gHAl AU SEURL URHIQ §HELeTL wellol AU,

4. RJSLcHS URHIG] A Rsid (Tactical Nuclear Weapon Doctrine): R UURdLd
Yol HARA-wA ok GUAL R YsoP UMY A= [@Asulcaul B ua
uLcAl &,

GUAsd ollA-(Qotc sl Hie ¢ 2ot A An v B?
(A) $5c 1 Vol 2
.S&d 1 Ul 3
(C) $5cl 3 Al 4
(D) $5c 2 Ul 4

190. @llRcloll URHIY (R3lseR i olAsl [Qulell taual A

1. SAUSSH Wlde] ellRde] Welelsu sike ofls? RAseR (PFBR) AyQl da stdd 8
Ul SLAML AL Aflsal cllosoll Y3 wd 8.

2. AllRcloll URHIY Al cgUotl ARAH WURA RAsA Wasdl uudl el
el elAruall (Al M2 YREAAH AWUR A RAR UR % WHUR AN B,

Gur Ul saj/sal (Quuet/(Qutell AU B?
(A) $5c 1

(B) §5c 2

(C) 1 Ual 2 oial

(B)) cistuiell s ugL (&
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189. India's nuclear doctrine is based on strategic deterrence and responsible use of nuclear

190.

weapons.
Consider the following policy-detail pairs:

1. No First Use (NFU): India will not use nuclear weapons unless first attacked with

nuclear weapons.

2. Flexible Response Strategy: India reserves the right to use nuclear weapons in a

preemptive strike if it perceives an imminent nuclear threat.

3. Massive Retaliation: India will respond to any nuclear attack with a large-scale

counterstrike to cause unacceptable damage.

4. Tactical Nuclear Weapon Doctrine: India has developed and deployed battlefield

nuclear weapons for limited-scale military use in conventional warfare.
Which of the above policy-detail pairs are correctly matched?
(A) Only 1 and 2
.Only 1and3
(C) Only 3 and 4

(D) Only 2 and 4

Consider the following statements regarding nuclear reactors in India:

1. India’s Prototype Fast Breeder Reactor (PFBR) at Kalpakkam is fully operational and

currently supplying electricity to the national grid.

2. India’s nuclear power strategy does not prioritize thorium-based reactors and continues

to rely solely on uranium-based reactors for future expansion.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2
(C) Both 1 and 2

.Neither 1 nor 2
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191.

192.

Rl Bollsall Mol UM clcReUUst e Uil 3 o{lAotl [Qtuloll taulal Al

1. Aold A3 LAt §S SR sAUSA2 Ao (NAFCC) dllellscl-RA(ARRaULUS (scuene-
AR[Auo2) Muisla YR @suiaal 1 Al ugusla wsta Y3l wi 8.

2. Aelcl As2Aot Wellol ol SAEN2 Ao (NAPCC) HL w16 Hud [M2lotoll AMLAL
Al B, Ul Adtcl (atet Aot URAUA WASEAR el Aot 2R Maletell
AHLdaL Al 8.

3. GlRdoll 22 AWSAel Wello ot SALESNS Ao (SAPCCs) Fos USSR AR5l slFuwl
Hole Q5L wacl AsAot ([Aell A% ARSI gl edda A dasaHl ud .

Gur U4l s¥/sal [Quuev(Qauell AU B?
(A) $5c 1 W 2

(B) 55 2

(C) $5cl 2 Ual 3

(D) $5cl 1

o2 sellclletl Aeolul, o{lAoll gl WA Anell cdgA AAell 1S Lol EAl:

1. csle G2 sl - WRNSYUA B WeBBH GeulEet UR AULNBLs ARAS UL
Aol@ld B,

2. 35 AR sAA - ot AAUL wal YL [Ast AR €cll wal Hlolel e WA
dold B.

3. flot wARsAAY - Yuacd ualaRla Anadrl A gUs g s UR R2llel
3 52 B.

4. o AlRARSAAY - eRae Ml dlAlRa dAwall Uldd Ry ua
BNAR GllARsollAl UA AsOUAA 8.

GURlsd USl 56 Sl 0ot Fld Ao v B2
(A) $5c1 2 Ual 3

.3&d 1,2 U 4

(C) $5cl 1, 3 Ul 4

(D) $5cl 2, 3 Ual 4
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191. Consider the following statements regarding India’s climate and disaster management

192.

strategies:

1.

The National Adaptation Fund for Climate Change (NAFCC) provides direct financial

assistance to private sector companies to develop climate-resilient infrastructure.

. The National Action Plan on Climate Change (NAPCC) consists of eight core missions,

including the National Mission on Sustainable Agriculture and the National Water

Mission.

. India’s State Action Plans on Climate Change (SAPCCs) are formulated independently

by state governments without any guidelines or coordination from the central

government.

Which of the above statement(s) is/are correct?

(A) Only 1 and 2

.Only 2

(C) Only 2 and 3

(D) Only 1

With reference to biotechnology, consider the following pairs of representations and their

target areas:

1.

White biotechnology — Related to industrial applications, including biofuels and enzyme
production.
. Red biotechnology — Concerned with medicine and human health, including gene

therapy and vaccine development.

. Greenbiotechnology—Primarily focuses on environmental preservation and contaminant
removal.
. Blue biotechnology — Associated with marine and aquatic biotechnology, including

bioactive compounds from marine organisms.

Which of the above pairs are correctly matched?
(A) Only 2 and 3

@) only 1,2 and 4

(C)Only 1,3 and 4

(D) Only 2, 3 and 4
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193. aall2sollclloll UM, sAlodt UUA AdlRFA UR oUW Olotclle] WAUAMS s1R0L
9 82
(A) AllwEscuui 2ot (o1es) WHAe{l detottdl US| dotcdl Sl B, ¥ AHell
AlAs ouuHlHl $812 s? B.
(B) “UULd| [QrcllR e 5Eall YRNTR” U2 B, B AURAMQS RAAML AR 52 B.

.Efasélot Ul QU] cdel scllRise cllldsw@ma ded sclleed MSEsU bl
dwl@d a B.

(D) AW s dtrtl WicdRARAS 1l RAA B, ¥ dMa dy UlABGalld oeld 8.

194. RIS’ Ycds QA {1 Astl Quuell tauial Al
1. Al Yels H3oa@e ollotl ot UR R B.
2. AHl 20110l acd su QA aistdl B,
Gur Ugl sej/sal (Quuet/Qutell AU B?
(A) $5c 1
(B) $5cl 2
(C) 1 Aal 2 ¢lal
.Oiaqleil As Uyl ol
195. AlBdRHL AWESURNA vrwade{l Alde Aol o«{lAotiniell sal 32812 sl B2
1. WIBSEA OUs Aol AAA [Acdotal wlslR sRAUL B.
2. UCALSBElol UWASR Aol WAASU clibal 6llR sAU B,
ol ActiHiel Ao [@Aseu uie s3A.
.ssd 1
(B) §5cl 2
(C) 1 Aal 2 olal

(D) ciaHiell As ul -3
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193. In the context of nanotechnology, what is the primary reason that quantum effects become

significant at the nanoscale?

(A) Nanoparticles have a lower density compared to bulk materials altering their

mechanical properties.
(B) The surface-area-to-volume ratio decreases leading to enhanced chemical stability.

.The behavior of electrons and atoms is governed by quantum mechanics rather than

classical physics.

(D) Nanoparticles exhibit weaker intermolecular forces making them more reactive.

194. Consider the following statements about the book ‘Stumped’:
1. This book is based on the life of Mahendra Singh Dhoni.
2. It contains information about the 2011, World Cup.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2
(C) Both 1 and 2

.Neither 1 nor 2

195. Which of the following changes has the ICC made to the Elite Panel of Umpires recently?
1. Michael Gough and Joel Wilson have been dropped.
2. Allahuddin Palekar and Alex Wark have been dropped.
Select the correct option from the following.
@)oniy 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2
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196. AlcH[AelR etk w2t 350t UdLAl QA {1 Aotl Quell taulal Al
1. L Aldalet s elrd Udd a2l AnuRUUE H2llet [Asuicy] B.
2. % sl Yellui gl M2 AL AseHl U sl w1,
GuR Udl sej/sal (Quuet/(Qutell UL/l B?
.3&d 1
(B) §5¢ct 2
(C) 1 Aal 2 olal
(D) cialuigll As ul -3

197. WL dl2el WA «al QA ol Aetl Quuiell tulal A
1. WRAA ol sleul wAYHl A2leld VA {l2E1y sRste (AAAARU) Bl ol
2. A glauell As M dl2elw B ¥ Bal sla-udl ol ol
Gur Ul sej/sal (Quuet/(Qutell UL/l B?
(A) $5c 1
(B) §5c 2

.1 ol 2 Gl

(D) cialuiell As uwl B

198. UAElell UILUR dtllR [AA ol Aatl (Auuall taulal A
1. 305 AR ARUELAL UIURHL 25%0ll ctilRuell U[BYAslL 182 53 B.
2.l duRl 1l AR 20234 @lo) 4.
3. Wl YAUoll AUELA s HondA drgedl R sauul aucl B.
GuR Usl sal [Quisll wul 82
(A) $5cl 1 Wl 2
.8&<‘l 2 ua 3
(C) $5cl 1 U 3
(D) 1, 2 UA 3
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196.

197.

198.

Consider the following statements about the steps taken under the Atmanirbhar Bharat

Abhiyan:

1. Under this campaign, India has developed its first indigenous MRI machine.
2. This will be installed at AIIMS Rajkot for trials by October.

Which of the above statement/s is/are correct?

.Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about para-archer Payal Nag:

1. Payal Nag recently won the National Para Archery Championship in Jaipur.
2. She is the only archer in the world who is a amputee.

Which of the above statement(s) is/are correct?

(A) Only 1

(B) Only 2

.Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements regarding the salary hike of Member of Parliament:
1. The Central Government has notified a 25% increase in the salary of MPs.

2. This increase will be effective from 1°* April, 2023.

3. This notification has been issued by the Ministry of Parliamentary Affairs.

Which of the above statements are correct?

(A) Only 1 and 2

.Only 2and3

(C)Only 1 and 3

(D)1,2and 3
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199. SIAHL AU Ascll HI2 Aoted 218 S clotlellotl YYIHoll 21 2 YHIA ol Actinigll
sl (Qetotetl ARA Aol ueAl B?

1. G Qe (Qeuoat

2. AHUBS Au2A A ARSIR Al Hod2A

3. stAel (AQeuoat

4. 13l UGS A cln(Asid Haua
(I AetHi 2002 [Ascu uile s

(A) $5c 1

. (B) $5cl 1 U 4
(C) 5l 1 Ua 3
.1,2, 3 ua 4

200. URAHL H{ellell vial QA (Al [Quuell tua A
1. HEAYR Aol JERIUB, olclRDNYR, A, SlR1Y2 ol sellBul Ulellell sk HeAl 8.
2. AR oA Eadlanl UdHl ctr Alettell vl &A% s29.
Gur Ul sej/sal [Quuev/(Qutell Aj/AAL B?
(A) 85 1
(B) 55 2
(C) 1 Aal 2 6la
(D) olatdiell As Ul o1}
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199. As per the Supreme Court order to form a National Task Force to prevent suicides in

colleges, which of the following Department Secretaries are its members?
1. Department of Higher Education

2. Ministry of Social Justice and Empowerment

3. Department of Law

4. Ministry of Women Empowerment and Child Development

Select the correct option from the following.

(A) Only 1

(B) Only 1 and 4

(C)Only 1 and 3

®)1,2,3and 4

200. Consider the following statements about gold mining in India:

1. Gold deposits have been found in Sundargarh, Navrangpur, Angul, Koraput and
Keonjhar in Madhya Pradesh.

2. The Government will now auction a gold mine in Devgarh for the first time.
Which of the above statement(s) is/are correct?

(A) Only 1

.Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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